Algebra II Notes/Classwork							Name: _________________________
Introduction to Synthetic Division of Polynomials				Date: __________________________
[image: ]Warm-up: Solve using long division.





Synthetic Division of Polynomials: Examples
[image: Image result for synthetic division steps]
Example 1: 









Example 2: 
	







Synthetic division ONLY works if:


Classwork/Homework: Complete the following problems before our next class.
[image: https://lh4.googleusercontent.com/Avr4UrDbL-oJgPrXa7Fd-ZQEhZVbxP3YYzJwOSrSkhkyTsukc6jmusBE7fayZKo5RzIM0kw1ZVMU4eTQVSL-VwO9gZ_7ja830zY4H5CXOUXei0YSDeOfs0R-YfLVkh_aQFgR-lEX]







[bookmark: _GoBack]Check your work: your remainders should be 8, -3, 6, 5, 5, 3, -8.

https://www.khanacademy.org/math/algebra2/arithmetic-with-polynomials/synthetic-division-of-polynomials/v/synthetic-division
https://mathbitsnotebook.com/Algebra2/Polynomials/POPolySynDivide.html
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Use the root

(2x° =5x7 —x+3)+(x+3)

associated with Mahbiscom
the divisior. list the coefficients only
= 3
30, 32 a3
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remainder

Solution: | 2x% —11x +32 +_7—93
x+3
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Divide.

1) (x* = 9x2— 6x —32) + (x - 10) 2) (8x3+35x 18y +32) = (x+53)

3) (v =40 — 487~ v+ 46) = (v+ 5) 4) (a* - 13a® + 43 —34a+29) = (a - 4)

5) (b* - 10b° + 2307 —46b - 75) = (b - 8) 6) (1 +5n* + 6n° - 20% — 310+ 39) = (n+ 4)




